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The ﬁgures in the margin indicate
full marks for the questions.; '

‘ Answer either in Enghsh or in Assamese

1. Answer the followmg as directed :
1x10=10

(@) Costaccountingis a method of

cost. .. '
(Fill in the blank with appropnate word) -

. B TN ool (i . TR
.ﬁﬁﬂﬁ%l (@wmvﬁrﬁww)

R Contd. ’



(b)

(c) |

~fmm

A " cost 1s an 1rrecoverable cost.

| (Flll in the blank with appropriate word)'

mmwww RIS T

Indlrect labour 1s treated as part of

R «ﬂ%‘f @t‘m
i ﬁmshed goods |
gy

) work_ -in-progress -

o TS s sty

(iii) - factory overhead
IR ToifRs

' '(iv) 'product :

(@

aJ

(B é'wts‘r R @ﬁwr)

'Matenal is the ﬁrst element of cost.

(State whether the statement is true or |
false)

vm:w ?q@@aw SR t?vnmm .'

(@‘@zﬁwawfﬁw |
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(@ﬂg@mwa‘?éz?qwawv %

(Select the correct ansiver)

R R

(9

- R A0 R
S (@Wweﬂﬁ?ﬁwwf '

' Bin card is a part of accountmg record. - -
(State whether the statement is true or
false) '

Bin card Mﬁwww%ca«aﬁ@m

" method of valuing malterial o

issues is sultable in the times of falling
price.
(Fill in the blank wtth appropnate word)

TOEPRTES ‘ ﬂﬁ%mﬁwﬂﬂ"

(SRt ey 7 STy i)

Which of thie following is not a part of

time-keeping ?

were fAal (PG S TR a%r ﬂ'aif% W
i) Punch card - ‘
| R
(ii) Job card ' -
o
- (iii) ‘Attendance re’g_iste’r‘
-({iv) None of the 'abov'e -
. ©Ime @ e
(Select the correct answer)
' (Wﬁ%‘ e ?ﬂ? @ﬁmﬂ)
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(h) Depreciation 1s a seml-vanable

. expense.

(State whether the statement lS true or -

. false)

6

e

~Answer the followmg questlone

‘ tﬁﬁsﬁﬁmmﬁaimaﬁ%m

What is process costing ?

m@ﬁ’ﬂmmﬁmmqmﬁ?

Write the meamng of relevant COSt’ ln .
"~ cost accountlng

.@kﬁﬁﬂﬁﬁrﬁ$ﬁﬁﬁﬁw“awﬁ%$aﬁfa!m(ﬁWHt'

 2x5=10

(a) What is the concept of cost?

@Q’"ﬁﬂmﬂﬁm{ﬁmﬁ@? '

labour costmg

a“‘”‘ﬁw*ﬁﬂvﬁﬁﬁwmmmruﬁimwaama
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©

(d.

(o)

State two unportant features of process
costing.

‘”ﬁﬁﬁﬂikwmﬁﬁﬁﬂﬁﬁm*ﬁ$ﬁiﬁw‘@ﬁﬁgikﬂﬂ
LTI

What iis,"opera'ting costing ?
BT T RpteRRet e B geme

'Name from the following the mettiod of

costmg and cost unit for :

. wﬁ%ﬂ@ﬁ@ﬁﬁwmm

'ef‘cﬁﬁaamr@mwaawto,-

(i) Aircraft _' (Ram) |
(i) Transport (JICITO) )

3. -Answ.er any four of the folloﬁ(irig queStiens :

- 5X4*2O :

o vmvsﬁhnemmmaaf%nmmvs#ﬁ?afgﬁaﬁ#m

(a) Mentlon ﬁve objectlves of cost

accountmg

eaﬂﬁwamniaﬂmaqswﬂ%aﬂm$7@0?ﬂikﬁﬂ
=
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'.-'prOViSiOn of 5o/

' | Uneratj .
‘advantages ang ation ? Mention two

. this system. .

Quantity Gy . oo

Rate per kg (af iz St ﬁ)' 225

.detcrior ation P

two disadyan’t,ages of
1+(2+2)=5

‘(d)' “The following data pertain to a material -

J’: : S
TS Al SRS AT U7 TS AAE 2
Supply berio_d 4 to 8 months
© (AR T o 48R
Consumption Rate '
=T |/ | |
~ Maximum : '1200~um't>s-.pel: month - .
s ;1200 .(10. oS Wze |
Minium 600 ‘units per month
TN . 600 (b ofs wze

Normal 900 units per month
qERs . 900 Cffb ofé e
Yearly 10800 units -

kil 1010800 G
Storage costs are 50% of stock value
QAN el *F6 TGS A T 50%
Ordering costs are 2400 per order
6 N 2l ST 400 T
Price per unit of métcria} T 100

%1 T W &lf$ (olfFe 100 T -
Compute -the minimum stock level.

TSN TGS S %9 el
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(e)

"Explain the five reasons of abnormal
idle time of labour cost.

i WWWWWWWW -

!

A' il ‘How is abnormal gain calculated and

treated in process costing?
_ . 2+3=5
e S ﬁm«% THORT e FEE
o I R it Tt <t e

4. Answer any four of the followmg questions :
- 10x4=40
TS ﬁtn a‘mﬁa ﬁzamr wﬁ?ra %m o

(a) What are the various costs classified

“under ‘functional classification’? Give

a brief description of each of these

- costs.’

w@ﬂm@ﬁmaw%wﬁ%a@gm_
| W@M%m@am@gm

;Wﬂ{a‘ﬁiﬁml

(b) Assam Mam-IfaCtunng Company uses
- copper wire which is purchased
from the market as “and when
necessary. Following purchases and

) issues were made durm
s January, 2023 & tne month Of
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: mwwﬁmﬁwuwm vﬁvﬁvwm .

va?ﬁﬁmwﬁmmmﬁ%zozs SRR
'January 1 Opemng balance 300kgs at -
| 250/kg |
o wmﬁaﬁsoOkgai%m@rwsoW
January 3 :- Purchased’ 500kgs at ¥52/kg
R "TP‘ISOOkgﬁIQ@ﬂ‘@FE'SQW -
January 7 : Issued 220kgs
. R 220
January 11 : Issued 440Kkgs
L R 440 ol o
January 18 : Purchased 490kgs at R46/kg
o '/:rr»zmgom@mﬁ%m@m%w )
- January 24 : - Issued SOOkgs
' | Rf& 300 e
Jan}iary 28 : Surplus, 20kgs returned to store

out of quantlty issued on 7th .
Janu

TR 7 @ﬁmﬁﬁwmﬁm
. 20 (G ewiwta Fme o

Prepare Stores Ledger Account for the
above transaction according to FIFO
method of pricing issue of materials.
SHEI® FEWMAEIRR 713l FIFO 7&({S©. 2jojwa;
Row wsw oy WfoarR Rl e w1
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" (¢ During the first week of January 2023,

“the workman Mr. Santosh produces

'1‘5’0, articles. He received wages . -
for a guaranteed 48 hours a week

@ iSO pef hour The estimated time to '

produce one article is 20 minutes and

under 1ncent1ve scheme the allowed is

1ncreasecl by 20% Calculate his gross

- wages .accordlng_t% e

(i) Piece works w1th guaranteed

Weekly wages ;
-(i)) . Rowan _premium bonus plaﬁ;
(iii) Halsey premlurn bonus plan

- 2023 Wﬁﬁ?@ﬂﬁqaw;mq—ﬁ —

muaf»‘m@m 48“‘%“'33%‘3% 50 Bl
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wﬁmlmw@wwwﬂ
A 20 ﬁﬁtwﬁ'{#ﬁwwwﬁ—m%.'
ﬁwwﬁm@l@@wﬁimﬁw—
mwﬁwwﬁ‘mﬁmw— -

{i) w%waﬂ*ﬁﬁrm@%ﬂqﬁ -

(i) R evﬁfﬂa S vmsﬁ (Rowan :

o Premlum Bonus Plan)

- (i) W G’Hﬁi@ ﬁFTE WTEﬁ (Halsey

@ -

Premum Bonus Plan)

Explain ‘under—absorption’ and ‘over-
‘a'bsor'ption’uof overheads. What are the

causes for under and -ovei'-absorp'tion

| of overheads? o (2+2)+6—-10 -
Boift® TR T c‘nroi % ‘wfeRe C“ﬂi‘!

mmmnmneﬂﬁ@wwmmw
WWWQ%ﬁS?'
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e}

-

’ Matenal 1ssued (ﬁ‘i} ‘-1'<U ﬁﬁ) |
Plant 1ssued (TS ﬁ%l) . .30,000
- Wages mcurred (’fﬁﬁ) .

| Other expenses incurred (qu; %)

A firm of building contractors began to

trade on 1st April, 2022, Following was -

the expendlture on a contract for
29,00 ,000 : ‘

1st Gf3e, 2022@%%@%%«@%%

G P TR I 678 5P 9,00,000

W%mwwwwo
(%) o=t

©1,48,000

being 80% of the work certified. Of the
Plant and Materials charged to contract,

- Plant which cost 26,000 and Materials -
" which cost 2 S 000 were lost. On 31st -
A'March 2023 Plant cost 34 ,000 was
returned to stores, the cost of wofk.
" done but uncertified was 220 ,000 and

materials costing ¥4 600 were in hand -

on 31te
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1,44,000

~ 30,000 .
Cash recelved on account of 31st
: March 2023 -amounted to 3 4 ,00, 000;

"Charge 15% deprec1at10n on plant and
prepare Contract Account.

31 W5, 2023 80% WSNT‘I‘ AT ol -

ﬁ’@ﬁ4000OOHmWﬁﬁ%ﬁT@WI o
© fosel Rote T TSR 6,000+ B T -
. TS wI% 5,000 56 T AT FO7H|

31 W16, 2023 4,000 5 AR AN wse
qaﬁﬁm =, 20,000 T wewIolg 2ltes <l
1% 4,600 T TR #HPE TR @mﬁas -
g AR |

TR @oiT. 15% WWW%%W_

. oot erme

(g)

Brlefly describe'the need fdr and

. procedure -for - integration of Cost'
" Accounting and Financial Accounting.

5+5=10

| @awmfiwﬂwwﬁ@zﬁwww,
. SIS S 2RI IRESN 530 e 71|

() What is allocatlon and
apportxonment of overheads?

@ﬂﬁswaﬁwﬁwwﬁ?
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R ol TR IR Rifen ﬁWﬁ

V mmﬁwﬂw—f .
| | | '. (%) b=t
[ ~ Rent (W) - .+ 5,000
o 'Deprec1atlon (W) - 4,800
‘q‘; — Superwslon (ﬁ@m{) | | 9,060
1; | o - Employer’s Llablhty Insurance | éOO
.' (FHRR o a’ﬂ) |

Insurance (@) -

-A company has four departments

The actual cost for the period’ are

: ngV,e,n below. Appcrtlon the cost to
the various departments by using _
‘the most eqmtable method—
' 248=10 -

aﬁmﬁwﬁﬁﬁmmﬁﬁ%w

mmwqu’amﬁw@ﬁ_

3,000
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The following data are also available in
respect of four departments :

t ‘?r'ﬁw1swmmaﬁkwmﬁﬁaEWNssﬁhs
Partlculars , | A B c D
Area (sq. feet] | 50 | 40 | 30 | 30
@@ | R
Number of Workers o |16 | 12| 8
FhHR L | N
Value of Plant (in7) 12,000 {9,000 | 6,000} 3,000]
iR |
| Total Wages' ) - | 4,000 3,000 | 2,000 1,000
TR (59) ] N
[ Value of Stock ) - | 15,000 {9,000 6,000| -
T AR (W) | -

(h) A manufactunng company dlsclosed a

- net loss of ¥ 2,91,000 as per their cost
. accounts for the year ended on March
| ~ 31st, 2023. The following information
~ was revealed as a result of SCrutiny of
. the ﬁgures of both the sets of books
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31 W6,.2023'® <5 Sesimreist STt

2,91,000 51 I 6N (S STEART B
3. ROITS e T | WA IR YRR

ST T ﬁm T eAfSTmTA et
i a -3 . .o
o () et
Factory overhead over absorbed’ ' 8,000
e SR T oG o D
Admlmstratlve averhead underabsorbed . : 12,000
- P EaiRe R W TR | e
‘ . Deprecxanon charged in financlal accounts ~1,10,000
R ot oewm b L
Deprecxatlon charged in cost accounts 1,22,000
Bt T RphiE S 9 o |
Income tax provided o 75,000
Interest on loans fund in financial accounts , - 1,34,000
R ot o wR e TE - ' ' |
Interest on investments not included in cost accounts 32,000
Betrit 7 Rovie srfe 7l RIRGIFR eoite 70 o
Transfer fees. (Credit in financial books) 78,000
TR @ (8 Q- @) . . : ‘
- Stores adJustment (Credit in ﬁnanc1a1 books) = = ¥ 4 ,000
N (ﬁ@m R () |
Prepare a Reconciliation Statement
from the above information:
SR ARSI 2 A TR ﬁqf% o)
Kol
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